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39- “I'm going to look an old friend up tomorrow.”
Means:

“I,m going to...........
1) stare athim
2) visit him
3) disrespecf him
4) try to find him
40- You've had a bad backache. You'd better ............ at
home for a few days.
1) to stay 2) staging
3) stayed 4) stay
41- Mrslrany will cometo the languagelab ................
1) too 2) either
3) neither 4) so
42-Heneedn't .........c.c...... the medicine.
1) taking 2) took
3) to take 4) take
43- We are going to have our alley ..............
1) asphalt
2) asphalting
3) to asphalt
4) asphalted
44- Thereisan excellent car in the auto - shop.
Unfortunatly, | Can't ............. it.
1) afferd 2) attend
3) avoid 4) accept
45- KNowing ....ccccceveee methodsis necessary in
agriculture.
1) science 2) scientific
3) scientifically 4) scientificable
46- Theyoung lady .............. you speak toin the street
isanurse.
1) who 2) whom
3) which 4) what
47- Ali failed hisexam. He ............ have studied for it.
1) can 2) must
3) can't 4) mustn’t
48- Theman, .....ccccceveneene. the story, began to laugh.
1) having heard 2) heard
3) had heard 4) having been heard
49-"1"ve spilt milk on my new coat.” ...............
1) that's ashame
2) what asham
3) How terrible
4) How awful
50- The traffic light wasred. John ........... the street.

1) should have crossed

2) could have crossed

3) shouldn’t have crossed
4) must have crossed
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